HERRED USRS L REABL202 2R A5 8 LIFH R G — Yk

FsS| *i3 RER £5 X8R 7

1| B—% PEIR LAEEUM 1 0. 00

2 | H %Y PEIE L AEHUM 2 88.70  [HENT —Mr B ki
3| EEY PERR LAEEUM 3 81.30  [BENT —Mr Bt kil
4 | HB—FY PEIE L AEUM 4 75. 40

5 | %Y PEIR LA HUM 5 82.60 | HENT—Fr Bt ki
6 | B—F PRI B AR 6 88.00 |HENT BBtk
T | BEY PEIR L AEEUM 7 82.60 | FEANT—Fr Bt ks
8 | B—F PRI BT EUN 8 87.31 |HENTF —FrBrE kit
9 | B _FEY PR BARZ 1 80. 60

10 | %Y PR B AR 2 95.80 | #EANT —FrBrEkillik
11| 5% 7 AR AT 3 0. 00

12 | %Y PR TAT U 4 85. 00

13 | 8% PR AT ZUm 5 78. 20

14 | %Y PR BRI 6 86. 00

15 | BB=%1 AR AT 7 79. 40

16 | %1 7 UK AT 8 89.60  [HENT —Mr Bt kil
17 | BB=%1Y AR AT UM 9 83. 00

18 | H %Y PR BALEIN 10 80. 80

19 | =% AR AT 11 85. 20

20 | Y PR B AR 12 88.00 | #EANT —FrBrE kit
21 | %Y 7 AR AT 13 80. 80

22 | %Y PR AR 14 80. 80

23 | HEY AR AT 15 93.20  [BENT —Mr Bkl
24 | B _FEY PR BAR BN 16 87.80 | HEANT —Fr Bt kit
25 | HEY AR AT 17 0. 00

26 | B _FY PR B AR 18 0. 00

21 | %Y AR AT UM 19 81. 80




28 | B _FEY FRBATEIN 20 81. 60
29 | HEY AR AT 21 90.60  [FENT —Fr Bt kil
30 | B _FY PR B AR 22 85. 00
31 | %Y 7 AR AT 23 80. 00
32 | H_EY R AR 24 84. 40
33 | HEY AR AT 25 0. 00
34 | B Y PR B AE M 26 86.60 | #EANT —Fr Bt kit
35 | FEY AR AT 27 0. 00
36 | B _FY PR B AR 28 0. 00
37 | HEY AR AT UM 29 0. 00
38 | B _FHY FRBALEIN 30 0. 00
39 | HEY AR AT 31 91.20 [BENT—Mr B ki
40 | B FY PR B AR 32 0. 00
41 | BB=FEY 7 AR AT 33 0. 00
42 | BB _FEY R AR 34 0. 00
43 | B _FEY AR AT 35 84. 00
44 | Y PR B AR 36 0. 00
45 | B FEY AR AT 37 86. 00
46 | B _FY PR B AR 38 0. 00
AT | BB %Y PR BARZN 39 91.40 |HEANT —BirBeE kit
48 | %Y PR 40 88.20 [HENT—Fr Btk iiisk
49 | BB=FEY AR AT 41 84. 00
50 | Y PR B AR 42 0. 00
51 | %Y 7 AR AT 43 83. 00
52 | %Y R AR 44 81. 80
53 | HEY AR AT 45 82. 40
54 | Y PR B AR N 46 79. 80
55 | %Y AR AT 47 77.80
56 | % H PR B AR 48 75. 80
57 | %Y AR AT UM 49 77.40




58 | B _FY FRBATEIN 50 0. 00
59 | HEY AR AT 51 0. 00
60 | =% WAt AR 1 84. 90
61 | =% WAt AR BN 2 82. 20
62 | =% %\ an e =S U] 3 88.60  [FENT —BrEE kit
63 | =% WAt LA BN 4 88.30 | HEANT —BirBeE kit
64 | =% 2N e e U 5 80. 80
65 | B=F%1 W Ew AR UM 6 84. 70
66 | =% W B AL BT 7 86.86  [BENT —BrEE kit
67 | =% WAt LA BT 8 90.00 | HEN T —Fr Btk
68 | H=F% WAt AT AU 9 85.20 [FEANT —BrBE kit
69 | =% WAt LA BT 10 86.00 | HEANT —BirBeE kil
0 | B=%Y W Z ot B 11 86.60 | HEANT —FrBrE kit
1| B=%EY W E AT BT 12 87.40 | HENTF —Fr Bkl
2| H=%Y 2B AU 13 86.60 [ HENT —Mr Bt kiR
73| F=EY W Z Bt LA 14 87.80  [BENT —Mr B kil
4| =% 2N e e U 15 82. 60
5 | B=%Y 77 b BT AR UM 16 89.60 [HENT—BFrBrL ik
6 | H=% PR B AR BN 17 87. 40
7| B=%Y P2 AT BT 18 89.20 |HENTF—Fr Btk
8 | B=FY PR AR BUM 19 83. 80
9 | B=FEY P AR BN 20 86. 40
80 | =% P BT AR UM 21 90.40 | #EANT —FrBeE kil
81 | =% PR AR BN 22 83. 80
82 | =% 77 b B R AR UM 23 88. 60
83 | =% 77 B AR UM 24 85. 40
84 | HIU%Y LR BOR AT 1 79. 40
85 | ZIUFE LR BOREUN 2 0. 00
86 | ZIUH LR B BGR T 3 86.40  [HENT —Mr Bt ki
87 | %Y, LR B BUR AN 4 79. 00




88 | HIUEY LU BURAUN 5 83.00 [HEAT —BrBrL ki
89 | %Y, LI BRBUM 6 74. 60
90 | FHIUEY LR BRI 7 87.80  [HEANT —BirBrL ki
91 | HEIU*EY, L HR BRI 8 83.40 | HBEANT —Fr B kit
92 | EIUFEY IR BORAU 9 74. 40
93 | ZIUFE LU ER UM 10 0. 00
94 | HIUHEY LI BOEREUM 11 84.40 [HEANT —BFrBeL ik
95 | ZIUFE LR BOREUN 12 78. 60
96 | HUFEY LI BRBUT 13 79. 20
97 | ZIUFE LR BN 14 79. 60
98 | HEIUFEY LU BURAUT 15 77. 40
99 | ZBIUE L IR BURZUT 16 74. 60
100 | ZEPUH5 LU BOERZUM 17 77. 60
101 | V4% TR BRI 18 81. 00
102 | V0% IR BORAUT 19 0. 00
103 | Y% LI BURET 20 80. 40
104 | P4 LI BOERZUM 21 82. 00
105 | V4% IR B BOER AU 22 87.60 [HENT—FrBrL ki
106 | #PU% LR EOR T 23 87.60 | HENT—Fr B i
107 | ZPUHE  HR BRI 24 83.40 | HEANT —BirBeE kit
108 | #PUH LB BOREUT 25 77.60
109 | ZEPU%E LI BRBUM 26 79. 80
110 | P45 LU BOERZUM 27 81. 80
111 | %% TR BRI 28 0. 00
112 | Y% IR BORAUT 29 80. 80
113 | %1% LR ER UM 30 82.60 [FENT —Mr B kil
114 | P05 LI BOEREUM 31 76. 00
115 | V0% LR BOREUN 32 78. 80
116 | #0U%Y LR BRI 33 83.00 |HENT—Fr Bl
117 % LR B BUR AN 34 0. 00




118 | #HPU* & HRUE BCR AU 35 89.80 | HEAT —Rir B kil ik
119 | 2% LI BRBUM 36 0. 00
120 | P45 LU BOERZUM 37 74. 60
121 | P05 L HRUE B BT 38 83.20 | HBEANTT BB kit
122 | Y% IR BORAU 39 85.20  [BENT —BrB kit
123 | %1% LU ER UM 40 85.40  [FENT —Mr Bt kil
124 | %VU%1 B BRI 41 88.00 |HEANT—Fr Bt killix
125 | ZPU%E LI BRBUM 42 77. 40
126 | #0U%5Y, LR BRI 43 78. 20
127 | Y% IR BR B 44 77.00
128 | ZHIUH LU BOERZUM 45 0. 00
129 | 2 1% LU BOERZUM 1 85.60 [HEANT —BrBeL ik
130 | 2% L HUB BT 2 85.60 [HENT—FrBrL ik
131 Bh%Y L HR BRI 3 82. 20
132 | 1%y LR BRI 4 78. 80
133 | %Y TR BRI 5 83.00 [HEAN T —BrBrL ki
134 | H1%EY B BRI 6 0. 00
135 | Bh%Y IR B BOER AU 7 0. 00
136 | H1%EY LR BOR U 8 89.60  [HENT —Mr Bt kil
137 | Bh%EY IR B BOR AU 9 80. 40
138 | BB hH5Y LU BOERZUM 10 0. 00
139 | BB hHY LU BOEREUM 11 79. 00
140 | 2 11751 LI BORZUM 12 86.40 [HEANT —BrBeL ik
141 | SBh%Y L HR BRI 13 84.80 | BEANT —Fir B killik
142 | 1% LR BRI 14 82. 40
143 | B h%EY IR BUR T 15 0. 00
144 | %Y, LHRUEERZUT 16 0. 00
145 | B H%Y LI BRBUM 17 79. 80
146 | H1%EY LR BRI 18 94.20  [HENT —Mr Bt ki




147 | BH%EY LB BOR T 19 80. 80
148 | %175 IR BR B 20 82. 20
149 | BB hH5Y LU BOERZUM 21 0. 00
150 | B h%5 LU BOEREUM 22 82. 80
151 | B h%Y LI BOEREUM 23 78. 40
152 | 1%y L BRI 24 0.00
153 | 1% LR BRI 25 0. 00
154 | S HE L HRUE B BT 26 0. 00
155 | 1%y LR ERZUT 217 81. 40
156 | Hh%Y LI BRBUM 28 81. 40
157 | H1%EY LR BOR U 29 84.40  [HENT —Mr Bt ki
158 | Bh%EY IR B BORHUN 30 0. 00
159 | 2 1% LU BOERZUM 31 84.40  [HEANT —BrBeL ik
160 | 2B H%51 LU BOERZUM 32 0. 00
161 | 2 11751 LI BOERZUM 33 83.60 [HEANT —RrBrL ik
162 | B H%Y L HR BRI 34 84.00 | HBEANT —Fir B kit
163 | B hH & B R AU 35 92.20 |HBEANT BB kit
164 | HHFY LR B BER AN 36 80. 80
165 | B H% IR B BOR FUT 37 0. 00
166 | % LI BRBUM 38 81. 60
167 | B hHY LI B BT 39 80. 00
168 | 28 %51 LI BRBUM 40 0. 00
169 | 2 117517 LU BOEREUM 41 84.60 [HEANT —BirBeL ik
170 | B h%5 LU BOEREUM 42 82. 60
171 | #1751 LI BORZUM 43 89.80  [HEAT —BrBrL ki
172 | %Y L BRI 44 0.00
173 | B hHY & B B AU 45 83.00 | HEAT —Fr B kit
174 | 5N%Y) s TAELARZUM 1 81. 80




175 | %N%EY) e TAELAEZUM 2 87. 80
176 | /5% Heox TAEEATR U 3 0. 00
177 | HNFEY o TAERARZUN 4 83. 40
178 | HNFHY o TAELARZUM 5 0. 00
179 | HNFEY o TAERARZUN 6 90. 00
180 | 2N F Heos TAEEATRHUN 7 85. 80
181 | HANF Hos TAEBAR UM 8 0. 00
182 | %%y s TAELARZUM 9 78. 80
183 | HANFEY Mo TAEEATRHUN 10 91.40 |HBEANT —Fr B kit
184 | HANFEY Heox TAEEATRHUN 11 93.00 | HEANT —BirBeE kit
185 | H/N%EY e TAELAEZUM 12 83. 80
186 | % /NE Heos TAEEATR U 13 79. 20
187 | BBNHY o TAERARZUN 14 82. 80
188 | BHNH o TAERARZUN 15 83. 20
189 | HNFE o TAERARZUN 16 0. 00
190 | HANFEY Heos TAEEATRHUN 17 80. 60
191 | BANFHY o TAEBAR UM 18 0. 00
192 | %%y Hs TAELARZUM 19 86. 40
193 | HN%EY) Hs TAELARZUM 20 0. 00
194 | BANFEY Heox TAEEATRHUN 21 0. 00
195 | %N%Y e TAELAEZUM 22 84. 20
196 | /5% Heos TAEEATR U 23 82. 80
197 | BBNFHY o TAERARZUN 24 83. 60
198 | BBNH o TAERARZUN 25 88. 60
199 | BBNHY o TAE AT HUN 26 88. 20
200 | ZBANFEY Hs TAELARZUM 27 80. 40
201 | ZBANFHY Hos TAEBAR UM 28 0. 00
202 | BBANFEY s TAELARZUM 29 0. 00




203 | ZBANFHY e TAELAEZUM 30 72.00
204 | BBNFEY Heox TAEEATR U 31 90.40 | HEANT —BirBeE kit
205 | ZENFHY o TAELARZUM 32 0. 00
206 | ZBANFEY o TAERARZUN 33 88. 40
207 | BBNFEY o TAERARZUN 34 0. 00
208 | HANFEY Heos TAEEATRHUN 35 81. 40
209 | EBANFHY Hos TAEBAR UM 36 86. 80
210 | ZBNFEY Heos TAEEATRHUN 37 89. 40
211 | BBANFEY s TAELARZUM 38 92.80  [HEAN T —BrBrL ik
212 | BBANFEY Heox TAEEATRHUN 39 90. 20
213 | BNFHY e TAELAEZUM 40 0. 00
214 | HNFEY, Heos TAEEATR U 41 81. 60
215 | BBNFY o TAELARZUM 42 0. 00
216 | ZBANFEY o TAERARZUN 43 85. 20
217 | BANFEY o TAE AT HUN 44 82. 40
218 | FBANFEY Heos TAEEATRHUN 45 94.60 | BEANT BB kit
219 | BANFEY o TAEBAR UM 46 79. 20
220 | BBANFEY Hs TAELARZUM 47 79. 20
221 | BANFEY Hs TAELARZUM 48 0. 00
222 | BNFEY Heox TAEEATRHUN 49 0. 00
223 | BANFHEY e TAELAEZUM 50 88. 20
224 | HEHEY Heos TAEEATR U 1 0. 00
225 | BEEY o TAERARZUN 2 81.80
226 | BLEY o TAERARZUN 3 0. 00
227| BEHEY o TAERARZUN 4 0. 00
228 | BLEY Heos TAEEATRHUN 5 83. 60
229 | BEHEY Hos TAEBAR UM 6 0. 00
230 | L%y Mo TAEEATR U 7 68. 40




231 | HEEY e TAELAEZUM 8 68. 80
232 | HLHEY Heox TAEEATR U 9 85. 80
233 | BLEY o TAERARZUN 10 82. 60
234 | BEFEY o TAERARZUN 11 88. 60
235 | BEHEY o TAERARZUN 12 75. 40
236 | BLEY Heos TAEEATRHUN 13 85. 00
237 | BLEY Hos TAEBAR UM 14 90.80  [HEATF —BrBeL ik
238 | L%y tho TAERAR AN 15 74. 80
239 | L%y tho TAERAR AN 16 74.40
240 | L%y Heox TAEEATRHUN 17 77.80
241 | H-EHEY e TAELAEZUM 18 0. 00
242 | BLEY Heos TAEEATR U 19 86. 80
243 | BEEY o TAERARZUN 20 82. 20
244 | BEFEY o TAERARZUN 21 83. 60
245 | BEHEY o TAERARZUN 22 0. 00
246 | B-LEY Heos TAEEATRHUN 23 89.20 | HEANTT —Rir B kit
247 | BEHEY o TAEBAR UM 24 83. 00
248 | L%y tho TAERAR AN 25 76.40
249 | L%y tho TAERAR AN 26 67.80
250 | L%y Heox TAEEATRHUN 27 81. 60
251 | H-EEY e TAELAEZUM 28 83. 00
252 | HLHEY Heos TAEEATR U 29 0. 00
263 | BLEY o TAERARZUN 30 87. 40
254 | B-EFEY o TAERARZUN 31 80. 80
255 | BEHEY o TAERARZUN 32 0. 00
256 | L%y thox TAE AR AN 33 80. 80
257 | BEHEY Hos TAEBAR UM 34 0. 00
258 | L%y tho TAERAR AN 35 73.00




259 | BEHEY e TAELAEZUM 36 0. 00
260 | L%y o TAELAR BN 37 77.20
261 | BEFEY tho TAE AR ZUM 38 81.80
262 | BEEY tho TAE AR ZUM 39 81. 40
263 | HEEY o TAE AT HUN 40 89.60 | #EANT —Fr Bt killik
264 | BLFEY Hos TAELARZUM 41 73.20
265 | BLHEY Hos TAEBAR UM 42 0. 00
266 | L% tho TAERAR AN 43 79. 20
267 | BEHEY o TAERARZUN 11 0. 00
268 | BLEY o TAELAR BN 45 91.60 |HBEANT —FrBeE kit
269 | BLHES Hoe TAELAEZUM 46 74. 60
270 | L%y o TAELAR BT 47 0. 00
271 | BEHY Ho TAEBAR UM 48 83. 60
272 | L%y o TAELAR BN 49 68. 80
273 | HEEY o TAERARZUN 50 95.60 | #EANT —FrBrE kil
274 | BN\FEY | EEBE NG LRI 1 80.00  [HEANTF—BrBr LIk
275 | BI\FEY | KEAEINGFEARHN 2 86.00 | HEANT —Bir Bt bk
276 | BB\FEly | EEBEINGF LR 3 0. 00
217 | HI\FEYy | HWEHE NGRS LB 4 56. 00
218 | BBN\FEY | EEHBE NG LB 5 0. 00
219 | BI\FY | EKEHEINGFA LB 6 76. 00
280 | BBN\FEY | EREBE NG LRI 7 76. 40
281 | )\FEY | HWEHUFINSE AR 8 71.60
282 | BN\FEY | EREBE NG LRI 9 0. 00
283 | BI\FEY | KEHAE NG EARHD 10 85.20 | HEANT —FrBrE kil
284 | BBN\FEl | EEBE NG LB 11 86.00 [HENT—FrBrL ik
285 | BBN\FEY | EEHEE NG LA 12 78.60
286 | BN\FEly | EEBEINGF LR 13 87.00 [BENT—Mr Btk ilisk
287 | HI\FEY | HWEHE NGRS LB 14 72. 80




288 | H\FEY | HWEHUFINLE TR 15 81.40 [HENT—FrBrL ik
289 | BBN\FEY | EEBE NG LR 16 0. 00
290 | )\FEYy | HWEHENGFE LB 17 0. 00
291 | BBN\FEY | EEBE NG LB 18 77.40
292 | H)\FEY | EWEHEEF NS EEBUN 19 73.40
293 | BN\FEY | EEBEINGF LA 20 77.40
294 | BI\FEY | KEHAB NG EAEHD 21 84.20 [HEANTF —BrBeL ik
295 | BN\FE | EEBE NG LR 22 78. 20
296 | B\Fly | EKEHEINGFATALEN 23 64. 00
2097 | BINEY | HKEHEBINGEEAEZUN 24 80.20 | HEANT —BirBeE kit
298 | BI\FEY | HWHBBINGFEEAEZUN 25 70. 00
299 | BN\FEY | EEBE NG LRI 26 0. 00
300 | BN\FEY | KEHAE NG EARHD 27 76. 80
01| BBN\FEY | EEHE NG LB 28 76. 80
302 | HI\FEY | EWEHF NSRS EAEBL 29 83.20 | HENT—Fr Bl
303 | BN\FEY | EEHEINGF LR 30 0. 00
304 | BINFEY | EKEAEE NG EAEHD 31 84.80  [HEANTF —BirBrL ik
305 | H/\FEY BEN AR BAT U 32 86.60 [HENT—BrBrL ik
306 | ZB/\F B E) AR B AR UM 33 0. 00
307 | HI\FEY IBEN AR BAT UM 34 80.20 | HEANT —BirBeE kit
308 | ZB\F B3 NAREL B AR UM 35 87.60 [HENT—FrBrL ki
309 | #/\FEY BEN AR BAT UM 36 73. 60
310 | S{ILEY O BT HT 1 77. 40
31| B FES DI AR EUN 2 83.60 [HEANT—BrBrL ik
32| HILEY O H SRR HT 3 82. 40
33| HILEY DAL HN 4 0. 00
314 | BILHEY O EBAR AT 5 79. 00
35| BILFEY OIS EAT N 6 82. 40
316 | SHILEY O BT EUN 7 0. 00
3T | BILEY DI EATR N 8 0. 00




318 | HILEY O HE AT 9 76. 00
319| HIHE O H A T AR U 10 84.60 | HENT—HrB ik
320 | #IE O BAT 2T 11 78. 00
321 | %Y O HE AT 12 83.00 [N —Br Bkt
322 | HIHEY OB AT U 13 84.00 |HENT—HrBeE ik
323 | HILEY O HE AT 14 75. 00
324 | HEILFEY OB AT U 15 81. 80
325 | HILEY O HE AT 16 79.00
326 | HEILFEY OB AT U 17 80. 60
327 | HIFEY OB A BAR UM 18 81. 20
328 | HILHES O IR B AR U 19 90.20 | HENT—Hr Bt ik
329 | HIFEY OB A BAR UM 20 81. 40
330 | HILHES OB AR U 21 83.00 |HENT—HrBetll ik
331 | EEY O HE AT 22 84.40 [N BBk
332 | HILHEY OB AR U 23 84.40 | HENT —Hr Btk
333 | HIFEY OB A BAR UM 24 0.00
334 | HEILFEY OB AR U 25 77. 40
335 | HIFEY OB A BAR UM 26 82. 60
336 | HEILFEY OB AR U 27 79. 00
337 | HEIFEY OB A BAR UM 28 80. 00
338 | HEILFEY O IR B AR U 29 81. 20
339 | HIFEY OB A BAR UM 30 81. 40
340 | HEILFEY O IR B AR U 31 78. 80
341 | EEY O HE AT 32 83.20 [FENT BBkt
342 | HEILFEY O IR B AR U 33 0. 00
343 | EEY O HE AT 34 84.60 [N BBk
344 | HILHES O IR B AR U 35 86.20 | HENT —HrBeEl ik
345 | HIFEY OB A BAR UM 36 80. 00
346 | HEILFEY O IR B AR U 37 78. 60
347 | HEIFEY OB A BAR UM 38 81. 40
348 | HEILFEY OB AR U 39 80. 20
349 | HIFEY OB A BAR UM 40 73.60




350 | HBILEY OB A BAT 2N 41 81.00
3Bl BTEY O HE AR 1 77.00
352 | &% O H A T AT U 2 87. 80
363 | HTHEY O BAT 2T 3 90.60 | HENT—Fr Bk
354 | H+FEy OB A BAT 2N 4 0. 00
355 | %Y O BAT 2T 5 90.00 |HENTF—Fr Bk
356 | H1T5 O H A T AT U 6 92.40 | HENT—Fr Btk
357 | #+% O BAT 2T 7 87. 40
358 | H1TH O H A T AT U 8 84. 20
359 | HHEY O BAT 2T 9 90.40 | HENTF—Fr Bk
360 | % OB A BAT 2N 10 81. 20
361 | HHEY O BAT 2T 11 81. 60
362 | #H1+HY O H A T AR U 12 86. 80
363 | HTHEY O BAT 2T 13 88. 80
364 | 1% O H A T AR U 14 90.20 | HENT—Fr Btk
365 | H+FE O LA AN 15 84. 20
366 | % OB BAT 2N 16 83.00
367 | HTHEY O BAT 2T 17 78. 80
368 | FHTHE OB BAT 2N 18 87.60
369 | HFEY O BAT 2T 19 86. 20
370 | HTHEY OB BAT 2N 20 88. 20
31| HHEY O BAT 2T 21 86. 80
372 | &#1+% O H A T AR U 22 87. 40
33| HHEY O BAT 2T 23 90.40 | HENTF—Fr Bk
374 | HHEY O H A T AR U 24 0. 00
375 | H+FEY O I LA AN 25 87. 40
376 | HTHEY OB A BAT 2T 26 80. 20
3T | HHEY O BAT 2T 27 89.20 |HENT—Hr Bk
378 | H1THEW O H A T AR U 28 0. 00
39| H+FEY O LA HN 29 82. 20
380 | 15 O H A T AR U 30 0. 00
381 | #t+#%1 O AT 2T 31 0. 00
382 | H1HY, O H A T AR U 32 83. 00




383 | HETHEY O H A T AT U 33 84. 80
384 | HHEY O BAT 2T 34 92.20 | HENTF—Fr BRIk
385 | H1HEY O H A T AT U 35 0. 00
386 | HTFEY O BAT 2T 36 0. 00
387 | HTHEY O H A T AT U 37 90.40 | HENT—Fr Btk
388 | HTFEY O BAT 2T 38 87. 40
389 | H1HY O H A T AT U 39 91.80 | HENT—Hr Btk
390 | %Y O BAT 2T 40 0. 00
391 | #H1+#%Y O H A T AT U 41 85. 60
392 |5+ —*%1 FHHE LB 1 75. 60
393 |+ —F FHIHE AR 2 85.20 [HENTF BBt
394 |ZB+—*%1 FHHE LB 3 75. 80
395 [BE+—F FHIHE — LA B 4 80. 20
396 |5+ —Fg FHIHE — AL 5 0. 00
397 [ZE+—F FHIHE — LA B 6 81. 00
398 |5+ —*%1 FHHE LB 7 78. 20
399 [ZE+—F FHIHE — LB 8 83. 00
400 |5+—F%1 FHHE LB 9 79. 40
401 |58+—%1 FHIHE — LB 10 81. 60
402 |5+—FY FHIHE — AL 11 0. 00
403 |+ —%Y FHIHE — LB 12 79.10
404 |5+ —%1 FHHE LB 13 89.00 |HENTF—Hr Bk
405 |5 +—%1 FHIBE AR 14 85.40 [N BBt
406 |H+—F% FHHE LB 15 80. 60
407 |+ —FY) FHIHE — LB 16 85.40 | HENT —F BTkt
408 |58+ —%1 FHHE LB 17 84.30 |HENT—Hr Bk
409 |F+—%Y) FHIHE — LB 18 80. 60
410 |5+—F%1 FHHE LB 19 76. 00
411 |38 +—F%1 FHIHE — LB 20 85.60 | HENT P BTkt
412 |5+ —%1 FHHE LB 21 88.90 |HENT—Hr Bk
413 |+ —%Y) FHIHE — LB 22 80. 50
414 |5+ —%1 FHHE LB 23 84.60 | HENT—Hr Bk
415 |+ —%Y FHIHE — LB 24 78. 00




416 |F+—%Y) FHIHE — LB 25 77.00
417 |+ —F FHHE LB 26 81. 60
418 |+ —%Y FHIHE — LB 27 79. 20
419 |5+—F%1 FHHE LB 28 79. 20
420 |+ —%Y FHIHE — LB 29 79. 40
421 |H+—%1 FHHE LB 30 77. 60
422 |5+ —%1 FHIHE — LB 31 84.50 | HENT P BTkt
423 |H+—%1 FHHE LB 32 79. 00
424 |5 +—% FHIHE — LB 33 84.40 [N T BBt
425 |H+—%1 FHHE LB 34 81. 80
426 |+ —%Y) FHIHE — LB 35 81. 60
427 |5+ —%1 REPR L o 1 84.00 |HENT—Hr Bk
428 |5+ —F%1 R A % 2 78.60
429 |5+—%Y Rk E % 3 76. 40
430 | t+—%1 Rk HE 2 4 78. 00
431 |5+ —%1 REREE 5 82.40 | HENTF—Hr Bk
432 |5+ —%1 R A % 6 87.90 [N —Br Bkt
433 | +—FY Rk E % 7 82. 20
434 |5+ —F%1 R A % 8 80. 50
435 |H+—F Rk E % 9 79. 10
436 |+ =% FHIHE ZLAEBUm 1 71.60
437 |5+ =% FHHE LB 2 82.80 [FENTF—Br Bk
438 |+ =% FHIHE ZLAEBUm 3 88.80 | HENT —Fi Bt Tkt
439 |58+ =% FHHE LB 4 88.80 [FENT BBk
440 |+ =% FHIHE ZLAEBUm 5 82.00 | HENT —F BTkt
441 |5+ =% FHHE LB 6 71. 60
442 |55+ =% FHIHE ZLAEBUm 7 79. 20
443 |5+ =% FHHE LB 8 70. 20
444 |5+ =% FHIHE ZLAEBUm 9 77.80
445 |58+ %1 FHHE LB 10 87.20  [FENTF—Br Bkt
446 |55+ =% FHIBE AR 11 81. 00
44T |58+ =% FHHE LB 12 91.20  [FENT BBkt
448 |+ =% FHIHE ZLAEBUm 13 89.00 | HENTF —F BTkt




449 |55+ =% FHIBE AR 14 86.20 |[HEN T —Br Bt
450 |58+ =% FHHE B 15 82.00 |HENTF—HrB Ll ik
451 |+ =% FHIHE —LAEBUm 16 83.00 | HENT—F BTkt
452 |+ =% FHIHE AT 17 0. 00
453 |+ =% FHIHE —LAEBUm 18 75. 00
454 |58+ =% FHHE B 19 82.40 | HENTF—HrB Ll ilik
455 |+ =% FHIHE —LAEBUm 20 79. 00
456 |+ %) AL AP R ZT| 21 0. 00
457 |55+ 23| AL TAE STPG R4 TR H0T| 22 0. 00
458 | B+ K| A DA ST EEETHIT] 23 0. 00
459 |55+ =% AL TAE ST RSB H0| 24 0. 00
460 | BB+ 3| A DA ST EEETHIT] 25 76.60 | HENTF BBkt
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